

$$y = \frac{6wL^2x^2 - 4wLx^3 + wx^4}{24EI}$$

$$y = \frac{w}{24EI} [6L^2x^2 - 4Lx^3 + x^4]$$

$$y = A + Bx + \frac{w}{24EI} [6L^2x^2 - 4Lx^3 + x^4]$$

at $x=0$, $y=0$ $\frac{dy}{dx} = 0$

$$0 = A + B(0) + \frac{w}{24EI} [6L^2(0)^2 - 4L(0)^3 + (0)^4]$$

$$\frac{dy}{dx} = B + \frac{w}{24EI} [12L^2x - 12Lx^2 + 4x^3]$$

$$0 = B + \frac{w}{24EI} [12L^2(0) - 12L(0)^2 + 4(0)^3]$$

$$B = 0$$

when $A = B = 0$

$$y = 0 + 0x + \frac{w}{24EI} [6L^2x^2 - 4Lx^3 + x^4]$$

$$y = \frac{w}{24EI} [6L^2x^2 - 4Lx^3 + x^4]$$

when $x = L$

$$y = \frac{w}{24EI} [6L^2 - 4L^3 + L^4]$$

$$y = \frac{w}{24EI} [3L^4]$$

$$y = \frac{wL^4}{8EI}$$

$$2. EI \frac{d^2 y}{dx^2} = \frac{\omega(L-x)^2}{2}$$

// Convert equation into an homogeneous equation

$$EI \frac{d^2 y}{dx^2} = 0$$

$$EI m^2 = 0$$

$$m^2 = 0 \Rightarrow m = \sqrt{0} = 0 \quad m_1 = m_2 = 0$$

$$y = e^{0x} (A + Bx)$$

$$y = A + Bx \quad // \text{ CF}$$

$$y = Ax^2 + Bx^3 + Cx^4$$

$$\frac{dy}{dx} = 2Ax + 3Bx^2 + 4Cx^3$$

$$\frac{d^2 y}{dx^2} = 2A + 6Bx + 12Cx^2$$

$$EI [2A + 6Bx + 12Cx^2] = \frac{\omega}{2} (L-x)^2$$

$$2AEI + 6BxEI + 12Cx^2EI = \frac{\omega}{2} [L^2 - 2Lx + x^2]$$

// multiply eqn by 2

$$4AEI + 12BxEI + 24Cx^2EI = \omega L^2 - 2\omega Lx + \omega x^2$$

$$24CEI = \omega$$

$$C = \frac{\omega}{24EI}$$

$$C = \frac{\omega}{24EI}$$

$$12BEI = -2\omega L$$

$$B = \frac{-2\omega L}{24EI}$$

$$y = e^{-2t} (A \cos t + B \sin t) + \frac{3}{4} \sin t - \frac{3}{4} \cos t$$

$$(E) \quad y = \frac{3}{4} \sin t - \cos t$$

for $t = 0$ to 2π

Consider the D.T

$$y = \frac{3}{4} (\sin t - \cos t)$$

$$\frac{dy}{dt} = \frac{3}{4} (\cos t + \sin t)$$

$$\frac{dy}{dt} = \frac{3}{4} (\cos t + \sin t)$$

at Steady State

$$\frac{dy}{dt} = 0 \text{ and } t = \infty$$

$$0 = \frac{3}{4} (\cos t + \sin t)$$

$$-\cos t = \sin t$$

divide through by $\cos t$

$$\frac{-\cos t}{\cos t} = \frac{\sin t}{\cos t}$$

$$\tan t = -1$$

$$t = \tan^{-1}(-1)$$

$$t = -45^\circ$$

$$t = 215^\circ$$

UDOUSORO, JAMAL .B.

15/ENG04/058

ELECT ENGR

ENG 381.

(1) $\frac{d^2y}{d\theta^2} + 4\frac{dy}{d\theta} + 5y = 6\sin\theta$

$\text{Let } 6\sin\theta = 0$

$m^2 + 4m + 5 = 0$

$a = 1, b = 4, c = 5$

$m = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$

$= \frac{-4 \pm \sqrt{4^2 - 4 \times 1 \times 5}}{2 \times 1}$

$= \frac{-4 \pm \sqrt{-4}}{2}$

$= \frac{-4 \pm \sqrt{2}j}{2}$

$m = -2 \pm j$

$m = \alpha \pm j\beta$

C.F = $y = e^{-2x} (A\cos\theta + B\sin\theta)$

$F(x) = 6\sin\theta$

P.I = $y = (C\cos\theta + D\sin\theta)$

$\frac{dy}{d\theta} = -(C\sin\theta + D\cos\theta)$

$\frac{d^2y}{d\theta^2} = -(C\cos\theta - D\sin\theta)$

$\frac{d^2y}{d\theta^2} + 4\frac{dy}{d\theta} + 5y = 6\sin\theta$

$-C\cos\theta - D\sin\theta + 4(-C\sin\theta + D\cos\theta) + 5C\cos\theta + 5D\sin\theta$

$= 6\sin\theta$

$-C\cos\theta - D\sin\theta - 4C\sin\theta + 4D\cos\theta + 5C\cos\theta + 5D\sin\theta =$

$C\cos\theta$

$-C + 4D + 5C = 0$

$-D + 4C + 5D = 6$